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1. Answer any five from the following questions (each in around 50 words) ;
oo RGRIE! 557 2 et v (ofCBt et o oy Foeqe) 3

() What s formal logic ?

IRERICACEIE c I DRE

(b) What is reasoning ?
e« BIF QT 2

(c) ‘What is conclusion ? /
Praie e @It 7

(d) What is ideograms ?
gigeteas % 2

(e) Whatis existential quantifier ?

Sgiers AART FIT @I 2

(/) Whatis material logic ?

S QICACEI T DR
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2. Answer any six from the following questions (each in afound 120 words) £
: ' 4x6=24
WWWWWW(WW-NOWW B

(a) Write a short note on logical form.

TSR SIHIET 8IS B! ST TR |
(b) Briefly explain the two sense of implication.

WizoFT 75! T© B3P AR F79 |

(c) What is truth function ? Explain briefly.

- Seyeiferal & 7 TN A 91 -

(d) ‘Write a short note on indirect truth table method.

Tepiferiy AT oafod R «ft syt fordss |

(e) Briefly explain the structure of a proposition.

5w S1owq 2ATEHITH! TP TR FIF |

(f) Explain briefly the nature of copula.
RIS RO B A FI9 1
(g) Write a short note on square of proposition.

Rt oferas R it SO Fre |

3. Answer any six from the following questions (each in around 200 words) :
: : 6 x 6 =36

o R g7 2w Ted o (S0 8iF K00 *w fSeTw) ¢

(a) Explain the concept of existential import.

SR SlesHR 4IFAICH! I T |

(b) What is decision procedure ? Describe.

st [Fwes geia) S @it ? WAL $5 |
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(¢)- What are the rules of quantification ? Discuss with suitable examples.

AR e & & 7 SnieseR Giee R $59 |

(d) How logic deals with deductive reasoning ? Explain with examplés.
SHRETS (T AT SN STl T4l T 2 SRR
IS 41 9T |

(e). What is symbol ? State the difference between signs and symbols.

ASIF B 7 AOIT T B2 e AT ALFES 1T |

() Explain the importance of logical form.

TR FEE BFY IR I |

(2) Describe the different meanings of implication with suitable examples.

Rl ffew STz rigaeitd TTe 34T $9 |
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